
Combien y a-t-il de syllabes 

dans le mot 

LAPIN ? 

1 2 3 4 5 6 

LAPIN 



    LAPIN 

Il y a 2 syllabes. 

1 2 3 4 5 6 



Combien y a-t-il de syllabes 

dans le mot 

ELEPHANT ? 

1 2 3 4 5 6 

ELEPHANT 



         ELEPHANT 

Il y a 3 syllabes. 

1 2 3 4 5 6 



Combien y a-t-il de syllabes 

dans le mot 

PINGOUIN ? 

1 2 3 4 5 6 

PINGOUIN 



   PINGOUIN 

Il y a 2 syllabes. 

1 2 3 4 5 6 



Combien y a-t-il de syllabes 

dans le mot 

RENARD ? 

1 2 3 4 5 6 

RENARD 



Il y a 2 syllabes. 

1 2 3 4 5 6 

RENARD 



Combien y a-t-il de syllabes 

dans le mot 

OURS ? 

1 2 3 4 5 6 

OURS 



Il y a une syllabe. 

1 2 3 4 5 6 

OURS 


